THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION -, . REVISIONS

ALL RIGHTS RESERVED.

© COPYRIGHT — By — P LTR DESCRIPTION DATE DWN APVD

E4 | ECR—17-009069 12FeEB2018| SG MKO

L | M3x10 Assembly directions

Dcrew version // M3x10 1K 3\‘ Crimp version M3x10 spring clamp version B in
5080300808051 Tobobebdobod |

19.5

21.2
3L
?g 5/

B
-
RoIt!
-
<
-
B
o
-
$BH
-
0
5

—_El—;—l_ﬁ_:' B
= [$HF
ML

| —
=y ==l =

T

Ln_

[T

Ln_

T

Ln_

[T

Ln_

Sockef

= 5

x Distance for a safe

104 27 104 104 contact max: 21 mm
10 33 10 . 10 _
2 1
Contact arrangement yiew from termination side / /

1+ 2+ 3+ L+ 5+ 6+ T+ 8+ 9+ 10+ 1M+ 12+
@oooooooooooo s A

® & & & ¢ © ®© & © & & &
13- 14-15- 16-17- 18- 19- 20-21- 22- 23-24-
\t +) 104

110

R IRy Y

NOTES:

1 SUITABLE CRIMP CONTACTS: SERIES HE/HA
OUTER DIMENSIONS OF INSULATION: MAX. 3,2 MM

2 SUITABLE HOOD SIZE 8; 12: SERIES HB; HD; HIP; EMV

Printing 1-24 Screw SUITABLE INSERTION AND EXTRACTION TQOL:

1103640

o

f+ 1 2 3 4L 5 6 7 8 9 10 11 12 —|3 Panel cut-out for contact insert  when used without housing SCREWDRIVER 0,5x3 DIN 5264
@ ®© 0060606060600 090090 M3 3 Strip lenght: Screw conection 10mm
00 0000000OCOEOC | 104 Spring clamp conection 10mm Crimp conection 7.5mm
L+ 13 14 15 16 17 18 19 20 21 22 23 24 ) J ' X L STANDARDS:
T DIN EN 61984; DIN EN 60664 -1
o | —| o
N Npm A PACKAGING:
' o | o
i S — g8 5 SETS IN A CARTON, PRE-MOUNTED
© A il i
Printing 25-48 Screw 9'7 = % /8\ SPECIAL PACKAGING: Krauss-Maffei
~ | N .
- N - - 2|s PACKAGING UNIT: 220 PIECES
25 26 27 28 29 30 31 32 33 34 35 36 112 E E
@............ 1%
o0 00000O0O0COCOCE e MEE Ll
37 38 39 40 41 42 L3 L4 L5 L6 LT L8 =la alx|x >
d_ +/ IR wla | & N
m| o [aa N R B ) [aa]
Q| O Olwm|wm o
2 cylinder screw steel blue 5 MLx6
1 111 cover spring clamp version light grey b
111 cover crimp version light grey 3
Printing 12+6+6 Screw/Thermo 11 1 1 111 |1 | cover screw version light grey 2
- +) (AR RN R EREREEEREREE pin insert light grey 1
1 2 3 4L 5 6 T+ 8+ 9+ 10+ 11+ 12+ 1-21041{943|1-8 [9-5[944{749|711|2-9(2-31-9|147|1-1 DESCRIPTION MATERIAL COLOR / FARBE 'TE'SSN.U' NOTES
®©0 0606060600600 00 VANV NVENVENVENVENP:NE:N A\|A|A| THIS DRAWING IS A CONTROLLED DOCUMENT. & . 08.02.2000 -
@ CHichneuder 5023000 - TE TE Connectivity
o0 00000C0OCOGOOGE o d : Schweiger " —
wn P y DIMENSIONS: TOLERANCES UNLESS
13 14 15 16 17 18 19-20-21-22- 23-2L- wi st G S |3 T | 4 - OTHERWISE SPECIFIED: | APVD — | NamE ‘
d- -|7 = f; E é é EE ;: 312, 3 :4 - 0 plo TR PRODUCT SPEG Male insert
NRIE I = E N NARY NEIR 1 PLC £ - _ HE.24.STI.S/C
ol gl <[5BT D> |a |72 ‘E@ §Etc i _ APPLICATION SPEC _
22122 (1212 P2 2121212 4 prc £ -, SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
GB35 GGG F G555 = —
ﬂ_ ;: (f i i ;: ;5 ;: ﬂ i i ;:: i MATERIAL ] FINISH ] WEIGHT A2 00779 @,:,1 103640 —
T HIE|E R EEE| T CUSTOMER DRAWING SAE 4 T 1 1 M4

1471-9  (1/15)




